Knowledge Path

14 Permafrost and active layer

If you dig in summer a hole in permafrost affected areas
in the high mountains e.g. in the ground or rock derbies,
you will not hit on ice immediately, because in summer it
melts on the surface. You call this the active layer. The
active layer could be e.g. 2 m deep before you hit
permafrost. Due to cursory digging and measuring of the
ground temperature in different downs (e.g. 10 cm, 30
cm, 50 cm,...), you can nearly calculate the depth in
which Permafrost, thus ice begins. You talk about a
gradient which could be calculated.

Task:
1.In the table below are 5 values, which were
measured at different depths. Dry to measure in
which Depth 0°C, thus permafrost could be.

Depth Temperature
10 cm 7 °C

30 cm 5 °C

50 cm 3,5 °C

70 cm 2,4 °C

100 cm 1,4 °C

2.Does the temperature  decelerate linear
downwards?
3. What happens in winter with the active layer.

4. Whereof in summer the active layer depends on?




